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class a
sub b
dim x,y as integer , z as boolean
X =-1+ ((+6+--1))+7 'x=13
z=Xx=7o0rnot3>=4 and true 'z = true
X \=4+1-1 'X=3
call input('y) ‘assumey =1
dim r as boolean
r = false
if notz

call print (x + 1) ‘writing 4

elseif true then
call print (x +y)
y*=X
end if
while y <3 and CBool((1*2) mod 3) 'y <3and true
y =y +2 + Cint(not r) 'y=4
end while
call print (y) ‘writing 4
end sub
end class
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if x> 2 then else call print(x)
if x <=2 then call print(x)

ifx<ythenmin=x:max =y else min=y:max=y
:while g (o
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